PROMT:


Explain in your own words how to graph the equation 2x+3y<6 on the graphing calculator.


The first thing you must do is solve the equation to get Y by itself. The equation after solving for Y should look like, y< (6-2x) / (3). Now, to graph the equation on the graphing calculator you must turn it on by pushing the ON key in the lower left hand corner. If the screen is cleared and has a pulsating curser you are clear to proceed to the next step. If the screen has a previous graph on the screen press the  CLEAR button under the blue arrows. Once the screen is cleared press the Y= button on the top left. Type the equation into the space provided next to Y1= . After typing the equation press the blue left arrow key. Space to the left until you reach the slash. Press the enter key on the bottom right three times untill a flashing downward facing triangle appears then press the GRAPH key in the Upper right hand corner.
